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Problem 1a)

ateml {convd {invblur,blur])
tichack ko see that this is an impulse by locking at stem plot, or any othar
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1 nimes_b = convd (invblur,nimes b
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Problem 1c)

[n m] = sizeinimes b)

rzera pad invblur o mzke it same slize as nimes
i_nimes_b_dft = ifft2 (£ft2{nimes b) .*EEC2{invblur,n,.m}};
figqure

imagescireal {i_nimes_b_dft])

colormap (grayl

512

512

2ol6 117472009 3:34 PM



Jofa

filexWC:UsersMatt Diocuments'Courses' ECE43 1 hw & htmlhwE_htm]

|

ik

ol

"juéﬁ.-'ﬁn HHEDI uéuﬁ.
Problem 1d)
We have to zero pad 30 that each dimension is M+L-1 {where M is size of nimes, L is siza of fier.

fml,nl] = size(nimes bi;
m2,n2] = gize(invilur);

i nimes b dft = iffeZ(ffed{nimes_b,ml+m2-1,nl+n2-1) . *£ft2 (involur,ml+mZ-1,ni+n2-11);
figure
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Problem 1a)

[ml,nl}] = size(nimes bnl;
[m2,n2] = sizei(inviplur};

i nimes bo dft = iEFEZ(EFEZ{nimes ba,ml+mZ=-1,nl+n2=1) . *££62 (invblur,ml+m2-1,nl+n2-111¢
figurs

imagescireal {1 nimes bn dFt))
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%= wom aould do oany number of things - one

ibe use the deconvwnr [deconvelwe psing weiner filter}) built-in matlak
gaommand

J = deccnwwnr (nimes_bn, bluc):
figques
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